Economics Problems: Cumulative
Political Economy and Social Movements, Fall 2006

Due: Monday, December 11th at Noon in box by Pete Bohmer’s office, Lab II, 2271 (or Friday, 12/8 in class)
Answer all problems.

1. Compare and contrast neoclassical economics to microeconomics with regards to the following:

A) Their analysis of power and individual choice

B). The determination of  prices and profits

C)  Conceptions of competition

D) The functioning of the labor market and the determination of wages

E) Market Failure, how common and solutions to it.
2. Explain the concept, the cost of job loss (CJL) as developed in Bowles, Edwards and Roosevelt. How do the authors use this concept to explain why firms may pay a higher wage than a worker’s fallback wage? What is the relation between the unemployment rate, the extent of unemployment insurance, corporate flight to the cost of job loss and wages and labor intensity. Using the concept of CJL and a bargaining theory of wages, explain why a more generous welfare system, not only helps people on welfare, but working people in general.    
3. Assume the  market for apples  is close to a perfectly competitive one For this market, draw the  demand and supply curves and show the equilibrium price and quantity. 

Price (P),    Quantity Demanded (QD)          Quantity Supplied (QS) 

per pound            (000’s pounds)                            (000’s pounds)
.60                    8000                                           2000

.70                    7100                                            2500

.80                    6000                                            2900

.90                    5100                                            3350

1.00                  4000                                            4000

1.10                  3200                                            4300

1.20                  2500                                            4500

1.30                  2000                                            4800 

A. Explain why the price and quantity moves towards the equilibrium price and quantity.
     What is the equilibrium price and quantity?
B. Why would an apple grower produce until the marginal cost of apples equals the price? Assume there are 100 apple orchards with similar cost structures, each producing 1/100 of the total apples. If their average cost per apple of producing 33,500 apples is $.80 a pound; of 40,000 apples is $.84 a pound: and of producing 43,000 apples is $.88 a pound, how much would the profits of the average apple orchard be at the profit maximizing output?

For the following parts of this question, show whether the supply or demand curve for apples shift and the resulting equilibrium output and price.  Draw the appropriate curves and show the old and new equilibrium. 

   1 If there is a major frost, what is likely to happen to price and output?
   2 If apple workers organize and improve their wages, benefits and health and safety conditions 

        what will happen to price and output of apples?

   3 If there is a signify increase in the export of apples to other countries what will be the change  

        in the price of apples and output? 

     4. If the price of pears and other fruits fall in price what is likely to happen in the apple 
          market?  
     5. If a major study shows that the chemical that are sprayed on apples make apples unhealthy,  how will this change the equilibrium price and quantity in the short and longer run?

4. Based on the presentations in our program and your readings in Real World Micro, and Understanding Capitalism, explain the inequality in wages between men and women, and between whites and Blacks. What solutions do you propose to deal with these continuing inequalities? In your answer, examine the relation between capitalism and discrimination (see chapter, 13 of Understanding Capitalism). What is your assessment of comparable worth, full employment, stronger affirmative action,  and making union organizing easier as solutions.
5. Apply different aspects of the concept of market failure in discussing the dominant use of the automobile as the main form of individual transportation in the United States. What are some of the social costs of this form of transportation that are not reflected in the private cost of driving. What is your position on the proposal to put a significant tax on gasoline, e.g., $2.50 a gallon, as a  way to reduce global warming, congestion, etc. What do you suggest?
